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1.1

1.2
1.2.1
LD-6N
LD-6N
NWPS-254

2m
NW-354 LD-5
1.1

1.2.2

LD-6N
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1~-2

2m
LD-5

1.4

1.3

1.2




1.3

1.3.1
1.3.1(a) A
1 2
1.1 10 1.5~% 1.8
1.1 A
mg/m? mg/m? o
6.15 0.06
8.92 0.06
41.2
0.06 mg/m?
120.00
< 100.00
§, 80.00
E _
60.00 _
40.00
20.00
0.00

[min]



1.5

1.7

1.3.1(b)
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40.00
20.00
0.00

[mg/m3]

25.00

20.00

[mg/m3]

15.00

10.00
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5.00

0.00

1.8

1.2

40 60
[min]
10
1
1.9~ 1.24
30.6

0.08 mg/m?
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1.2

mg/m? mg/m®

0.98 0.08 o
2.97 0.08 o
2.35 0.08 ©
2.95 0.08 ©
1.60 0.08 ©
1.11 0.08 o
3.34 0.08 o
1.64 0.08 o
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40
35
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25
20
15
10

5

0

3
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1.9

[mg/m3]
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0

25
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1
£
>
E
0 3 6 9 L I g 4 > X
[min]
1.13

11



45
4.0
35
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[mg/m3]
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0 3 6 9 L i5 W 2 24 2
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[min]

0 Ip 2 3 % S 60 v % B

[min]

10

12



180
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80
60
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[mg/m3]

0 Ip 2 S % % 6 v %

[min]
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£
>
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i
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0
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1.21

[mg/m3]

o
i
0 3 6 9 L I5 18 27 24 2 X
[min]
1.20
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250
200
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> 150
E
100
50
0
0 o 2 o % % 6 v % D
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8
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S
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1.23

1.3.1(c)

1.25

1.3

[mg/m3]

180
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140
120
100
80
60
40
20
0

12
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0 0 2 3 % S 6 0 % % o

[min]

E 4
E
6
4
o
0
0 1o 2 S % % 6 0 % % iy
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1.3 10
1.26
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mg/m? mg/m?
3.75 0.058 o
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[mg/m3]
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E &6 -
5 —
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2
1
0
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[min]
1.26
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1.3.2
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EESDICBIT a2 ) — MHE - IXV B ERE LI H~E%3
1.4
10 1.27 1.28 1.29 1.30 1.31 1.32
7.0 0.32 mg/m?
1.4
mg/m? mg/m? o
2.89 0.32
3.50 0.32
7.06 0.32
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1.33 1.34 1.35 1.36 1.37 1.38

7.8 0.29 mg/m?
1.5
mg/m? mg/m® o
3.25 0.29
5.89 0.29
2.71 0.29
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E
30
20 L }
, | |
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0o & 6 9 L 5 18 2 24 2
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90

3:2 1
;N

ER .\
y el N,
.0 / i
= / \

20
o ™
0.0 =
o 3 6 9 L I W o 4 2
[min]
1.34
10

19



1.35

70

60
™ 50
£
N
2 40
30
20
10
0
14
12
& 10
S
N
2 8
6
4
S
2
0
1.36
45
40
35
152
(S 30
>
E 25
20
15
10
0
1.37

S}
N
EN

6 8 o L 44 I

[min]

(s}
N
A
o

8 0 2 19 6

[min]

20



[mg/m3]

[min]
1.38
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1.3.2(c)
1.6 10
1.39 1.40
8.2 0.28 mg/m?
1.6
mg/m? mg/m? o
4.19 0.28 o
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7
'O,E—, 6
> 5
E 4 -
3 S
2
= 1
0
5 10
[min]
1.40
10
1.4
1.7
1.7
mg/m?
mg/m? mg/m?
2.62 1.97 8.92~0.98 0.08~0.058 | 100% | 11 11
3.97 1.44 7.06—~2.71 0.32—~0.28 100% 7 7
1.4.1
10
1.7 100%(11/11
1.4.2
v 100 %(7/7
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1.4.3 24
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1.8

28

1.8

1.8
mg/m?
mg/m? mg/m?
0.35
- - - - 0
(3.86) 4.54 0.039|0.23 0.05| 73% {29 40
0.33
(6.09) 8.27 0.030(0.23 0.06| 63% |27 43
0.23 3.76 0.08 3.0 7.1% 2 28
(3.15)
- - - -UN
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